Genie

A TEREX COMPANY

Installation Instructions

Pipe Cradle

Installation & Operation

Boom Products

Part No. 65630
Rev F
February 2009



Installation Instructions

February 2009

Instructions

Important

Read, understand and obey the safety rules and all
instructions before using a pipe cradle assembly.
This manual is a part of your pipe cradle assembly
kit and should remain with the pipe cradle assembly
at all times. If you have any questions, call Genie
Industries.

Table of Contents

Floor SupportedModel ..........ccvevveeviiviiennnnn.

This pipe cradle
assembly mounts to
the platform guard rails
with U-bolts and rests
on the floor of the
platform when installed.

Railing SupportedModel ..........cccoeceeeiiinnne Page 5

THIS DESIGN IS NO 1
LONGERPRODUCED. A
This pipe cradle ‘“i
assembly mounts to

the platform guard rails
with 2 brackets and a
tightening strap.

Pipe Cradle Operation ..........cccccvvvvvvereeenennn. Page 6

REV F

...........

2 Boom Products Pipe Cradle Assembly

PartNo.65630



February 2009

Installation Instructions

REV F

Floor Supported Model

The pipe cradle assembly consists of 2 pipe
cradles positioned at either side of the platform and
mounted to the guardrails with U-bolts.

Modification Approval

These instructions serve as approval for use of
Genie pipe cradles on the following Genie products
provided that all instructions and warnings for safe
use of the pipe cradle and specific model of aerial
platform are followed.

The floor supported type of pipe cradle assembly
can be installed on the following machines:

S-40 S-100 All Z-34/22 models

S-45 S-105 All Z-45/25 models

S-60 S-120 Z-51/30J

S-60HC S-125 Z-60/34

S-60 TRAX Z-20/8N Z-80/60

S-65 TRAX Z-25/8 Z-135/70

S-65 Z-30/20N TMZ-34/19

S-80 Z-30/20NRJ  TMZ-50/30

S-85 Z-40/23N TZ-34/19
Z-40/23NRJ  TZ-50/30

AWARNING Do not install a pipe cradle

assembly on any Genie boom
product other than the designated
models.

PartNo.65630

aaaaaaaa

Boom Products Pipe Cradle Assembly

INSTRUCTIONS

Contents of kit part number 56572

Parts Part No. Qty

Pipe cradle weldment 56525 2
Pipe cradle mount 81368 4
Bumper - Plastic, 1.25 inches O.D. 55753 4
Strap - Conduit Holder 56570 2
Trimlock - Black, 11 inches 19018-1100 2
U-bolt, 3/8-16 x 1.5 x 2.5 x 1.25 inches 122755 8
Washer - Flat, 0.313 inch 5397 16
Washer - Flat, 0.25 inch 6638 8
Screw - HHC, 1/4-20 x 2.5 inches 6884 4
Nut - Nylock, 3/8-16 4828 16
Nut - LP Nylock, 1/4-20 6889 4
Decal 72875 2
Installation Instructions 65630 1

Observe and Obey:

M Pipe cradles must be installed on the inside of
the platform.

M Pipe cradles must not obstruct the platform
controls or the platform entrance.

M The bottom of the pipe cradle tube must rest on
the platform floor.

M Be sure the platform is level before installing a
pipecradle.




Installation Instructions February 2009
|

INSTRUCTIONS REV F

Installation 3 Secure each U-bolt with the provided flat
washers and nuts (Genie part numbers 5397

1 Install a pipe cradle weldment on each side of and4828).

the platform. Refer to the illustration 1. Make
sure the bottom of the pipe cradle tube rests on
the platform floor.

Note: When installing a pipe cradle on a platform
with tapered railings, attach one pipe cradle mount
to the outside of the upper platform railing and one
pipe cradle mount to the inside of the middle
platform railing. Refer to lllustration 2.

®

4 Proceed to Pipe Cradle Operation on page 6.

® ©

\\

\

N
OO @

ptd
@O—aex (
e |
lllustration 2
Illustration 1
strap
U-bolts

pipe cradle mount
upper platform railing
pipe cradle weldment
middle platform railing
flat washers

3/g-inch nylock nuts

oJQ "0 Q0T

2 Install two provided U-bolts (Genie part
number 6550) from the outside of the platform
rails through each pipe cradle mount.

.........

4 Boom Products Pipe Cradle Assembly Part No.65630



February 2009

Installation Instructions

REV F

Railing Supported Model

THIS DESIGN IS NO LONGER PRODUCED. This
pipe cradle assembly mounts to the platform guard
rails with 2 brackets and a tightening strap.

AWARNING D notinstall a pipe cradle

assembly on any Genie boom
product other than the designated
models.

AWARNING Do not install this pipe cradle

assembly on a platform with
taperedrailings.

sl I I l

NN L

<

I

ul

) Platforms with straight
Platforms with tapered railings

railings

Modification Approval

These instructions serve as approval for use of
Genie pipe cradles on the following Genie products
provided that all instructions and warnings for safe
use of the pipe cradle and specific model of aerial
platform are followed.

The railing supported type of pipe cradle assembly
can be installed on the following machines that
utilize platforms with straight railings only:

S-40 S-100 All Z-34/22 models

S-45 S-105 All Z-45/25 models

S-60 S-120 Z-51/30J

S-60HC S-125 Z-60/34

S-60 TRAX Z-20/8N Z-80/60

S-65 TRAX Z-25/8 Z-135/70

S-65 Z-30/20N TMZ-34/19

S-80 Z-30/20NRJ TMZ-50/30

S-85 Z-40/23N TZ-34/19
Z-40/23NRJ TZ-50/30

PartNo.65630

aaaaaaaaa

Boom Products Pipe Cradle Assembly 5

INSTRUCTIONS

Observe and Obey:

M Railing supported pipe cradles can not be
installed on platforms with tapered railings.

M Pipe cradles must be installed on the inside of
the platform.

M Pipe cradles must not obstruct the platform
controls or the platform entrance.

M Be sure the platform is level before installing a
pipe cradle.

Installation

The pipe cradle assembly consists of 2 pipe
cradles positioned at either side of the platform and
clamped to the guardrails. This design will NOT rest
on the floor of the platform when installed.

1 Install the pipe cradles on either side of the
platform.

2 Hook the brackets over the top and middle
railings of the platform.

3 Tighten the straps to secure each pipe cradle in
place.




Installation Instructions February 2009
|

INSTRUCTIONS REV F

Pipe Cradle Operation

Note: These instructions apply to Floor Support
models and Railing Support models.

1 Be sure the pipe cradle assembly and
installation instructions have been followed
properly and that the pipe cradles are secured to
the platform railings.

2 Place the load so that it rests in both pipe
cradles. The length of the load should be
parallel with the length of the platform.

3 Center the load in the pipe cradles.

4 Secure the load to each pipe cradle. Pass the
nylon strap over the load. Depress the buckle
and slide the strap through. Tighten the strap.

5 Gently push and pull on the load to make sure
the pipe cradles and load are secure.

6 Keep the load secured when the machine is
moving.

Tip-over hazard. The weight of the

AWARNING pipe cradle assembly and the load
in the pipe cradles will reduce the
rated platform capacity of the
machine and must be factored into
the total platform load.

Tip-over hazard. The weight of the
AWARNING pipe cradle assembly and the load

in the pipe cradles may limit the
maximum number of occupants in
the platform.

Maximum Pipe Cradle Capacity

All models 200 Ibs
90.7 kg
Pipe Cradle Assembly Weight 21 Ibs
9.5 kg

Ganie

.........

6 Boom Products Pipe Cradle Assembly Part No.65630



	65630 Pipe Cradle Cover.pdf
	Page 1


